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i | Question Jir A B c D AlB]c] o]
If A and B are two matrices each of order
£l 2x5 then order of matrix 4—B is:
.1l ?rﬁl_f(_?}Jb/A_Bh_JF;ﬂ 2x5 ._'»;J{U!.JE':JBJJI}\/G 2 Wld 410 w7 O O O O
o If n=8 and 16x2™ =4"" then value of m
is:
‘ —4 -2 0 8
.2 Sheddm in16%x2" =4"" wpn=8 4 O O O O
o The logarithm of unity to any base is equal
to:
; 1 10 e 0
.3 Tq.tm:'x.&;/(?;ﬁb’l ;U’L’ru‘f{ O O O O
B
If Wz?}z” , then value of x is: 1
A 2 6 = —
E ceidd 7 in YET=3 2 ; 0O 0 O O
. Find the value of m , so that x>+4x+m
becomes perfect square.
5. 8 -8 4 16
u Wbl N +dx+m L Lad S U m ’ O O O O
|
4 3 s
W LCMof (a=b) and (a-b) isequal to: 5 . ;
6. a-b —b -b -b
el 1 sy (a—b)J o (avb}'1 ( ) (a6} (a ) (a ) O O O O
|
The lines x—1=5 and y+1=-4 intersect
7. eachother at: (5,-4) (6,-5) (-1L1) -5,4
. F_fff;.;ii?u’(ﬁ._fuhﬂy+]:—4ufx-—~l=5b#"'» ( ) O O O O
Sur
n If capacity ¢ of an elevator is at most 1600
pounds, then:
8. 3 ;
n o, 1600 mhenks € AwSLbrgsLoigi| © <160 e2ie aElend eriodl O O O O
.| The "term” used for a triangle having all sides
different is: Isosceles Scalene Equilateral  |Right angled
WP LlnBe pufifldtmusl e | dugs Ly Lyl A0 O O O O
. S b U L ita”
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| ‘ Question Jir A B C D A ‘ B | C | D |
In parallelogram LMNP the value of x is:
p A0 N
10. 5 10 6 3 O O O O
L 10 M
ilnf=d x & LMNP w036
In given figure, mPL will be shortest
distance if:
P
11. m/PLA=80° | m/PLB=90° | mepLc=100° [mePLD=1104 O O O O
A BL ¢ D
E‘KxéJdEf’a,.fr mPL /‘__,_-IJJ"/’U:UKEL}J’L.{’
In given A4BC, the value of x is:
A
12 15
12. 10.4 12.4 13.5 15.5 O O O O
B X 13 C
[
snf=dl x & ABC 2806
Area of given figure is:
10
13, 26 80 160 320 O O 0O 0
-
e 16 >
ST AT
g Given number V10410 is: Irrational Real Complex Imaginary O O O O
| e O A | Fed & oA s
The degree of polynomial 4x° +2x%y* +11x
is:
15. | I 2 3 4 O O g G
?fﬂ_‘u}ub’ 4y’ +2,\')y2 +11x J;E’J(d_-
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(Science Group)
Time allowed: 2:40 Hours Total Marks Sections B and C: 60
NOTE: Answer any nine parts from Section ‘B’ and any three questions from Section ‘C’ on the separately
provided answer book. Write your answers neatly and legibly.
SECTION — B (Marks 36)
Q.2  Attempt any NINE parts. All parts carry equal marks. (9x4=36)

Note:

Q.3

(81)".3° —(3)"".(243)
(o))

(i) Solve log, (5x+1)=2

(i) Simplify \/: %/Z iF
a

(iv) If :.r+——2 find a* +—

a

(i) Simplify

(v) If area of a rectangle is x*+13x-90 then by use of factorization. Find

a) Sides of rectangle b) Perimeter of rectangle ;
(vi) Factorize x’ —22x+40 by using factor theorem.
(vii)  Find square root of x(x+1)(x+2)(x+3)+1 by factorization
(viii)  Find the solution set of 2315 =§_ 4xim, .w"?s — e
(ix) Find values of "m" and "c¢" by comparing y =mx+c With 2x+5y-1=0 Q0 2(xii)
(x) If a circle passing through P(1,3) and having centre at C(-3,6) L
Find
(a) Radius of circle (b) Diameter of circle (Diameter=2 X Radius)
(xi) Prove that angle bisectors of a triangle are concurrent.

(xi)  Infigure, PO L CDand mQS >mQR then show that mPS > mPR

Q 2(xiii)
(xiii)  In ALMN, LA bisects <r . If mLN=4, mLM =6, nMN =8 then find A
(a) mMA (b) mAN
15cm 13cm
(xiv)  Find the value of x in shown figure.
(Hypotenuse)?= (Base) 2+ (Perpendicular)? -
C
B x D s
SECTION — C (Marks 24) 0 2(xiv)
Attempt any THREE questions. All questions carry equal marks. (3 x 8=24)

The length of a rectangle is 6cm less than three times its width. The perimeter of rectangle is 140em . Find the
dimensions (using Cramer's rule)

If in the correspondence of two right-angled triangles, the hypotenuse and one side of one triangle are congruent
to the hypotenuse and the corresponding side of the other, then prove that the triangles are congruent.

If the square of the one side of a triangle is equal to sum of the squares of the other two sides, then prove that the
triangle is a right angled triangle.

Prove that the line segment joining the mid points of two sides of a triangle is parallel to third side and is equal to
one half of its length

Construct aAxyz mXY = 4.5cm, m¥YZ =3.4cm, mZX =5.6cm  Write steps of construction, Also

(a) Draw one altitude from x to 1Z

(b) Find area of Axyz
—— 1SA-l 2309 —



[ o o) ) (ol
(/W)

60:(3’»!(3:,.%?/:};);/ &’2:40:.:::,

..u'_'/rdy|:aJ.“f(03)U‘fLJ)J/C.-J1"!‘.ﬂ?,.?.ffff(09);£rJJ,.A'7-L,:}{_Lég{_}lJ’.[:;?Jkp‘Lc.&:’?;‘-[’lf&&m!’&rf}ﬂr”ﬂ? s

_Jf:‘.l'.gé_.ﬂgfuﬂ..}lﬂ:atlﬁ Lot

(9x4 = 36)

(36~ j)fu.._/?
s ALz R S a2(09)) o et psnrr Ay

(81)".3°—(3)""" .(243) L B Q)
o)) - |
log, (5x+1)=2 JrS (ii)

{[jij:{ﬁ EE (i)

s _u_')/pj”;na+l=2/ﬁ (iv)
a a

W ST _Q"/(l’:i”é_ﬁz.)/;)b;‘l{df In 3K ©+13x-90 /1 (V)
P

X —x"—-22x+40 _L):/"(j/":..JJJJ;J-’-" (vi)
x(x+1)(x+2)(x+3)+1 J“/rﬂ”d/izﬁd}.ﬂ‘m (vii)
B a2, = x;_; e Fhene g (Vi)

2.\'+5=-3’__4.r+10'

¢ Q R

2 i)~

: 6_q/rPuf“5J--cmr"m",vz.&i./ﬂt.l;u: LS y=mxrc 26+5y-1=0 anladis (ix)
(ST (=3,6) WU P8 meusd et P(1,3) LRe 0L (x)

L Ux 2= UES Ly oo ety
B BB A LUy Lol Syt ek (xi)
WS > mPR S S eI mQS > mOR M PO LCD LTS (i)

M /A B L,_f/ryb";ﬁmﬁzzi, mLM =6, mm=8/ﬁ§.J‘L’(4L 1y LA ‘_}:AL;LH\-’-’%B."‘ (Xlll)
2xii)~"Jir _ _
mAN e mMA
A
15cm e -u'"/rll"&gij dfyfdi (xiv)
OGP +Gut) =)
B X rD 5 ¢
2(xiv)z—.'jd!f (24/_’};)(,, o
(3x8 = 24) Ctdiif Lushr (0 gES Ui <35

(e su§UHE £ (Cramer's) £ 253 Bisg QS E™ 3n 140 Sl st 6 =t L3881 NSO I I
-Jux;)'&bt‘u.:a}ufé:«:L";"Urrdéif‘c.’:éja}b:,r:l}:d:.ieﬁ‘d/‘»&bugfJJ!}'JK&I}‘VQ uf@lb/pr(d/u;@:}lijﬁ'»/ﬁ :I"'/:;dly'
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-.f_bndﬂja.uluﬁészfdjd?ﬁﬁ'}b L B B L Wein L 2 S St Ay
2 -gff KU mXT = 4.5cm, mYZ =3.4cm, mZX = 5.6cm 2Ll Axvz &b iy
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handed over to the Centre Superintendent.
Deleting/overwriting is not allowed.

Do not use lead pencil.
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| Question

Jir

A

c

D

If A and B are two matrices each of order
2x5 then order of matrix A+B is:

Wl o nKA+BE T 2X5 SKUsEn BIAS

2x5

10x10

Tx1

Tx7

If 3i(2+5i)=x+6i, then value of x is:

a3 x 7n 3i(2+51) = x+6i /i

~15

Si

15i

The logarithm of any number to itself as a
base is equal to:

- b v!i;ﬁ:xﬁsulera;fﬂﬁun//ﬁ

v

10

If %/6_4=2" , then the value of x is:
sdnfdd x In Yoa =2/

What will be added to complete the square
of 9a’-12ab ?

LSl Lid  J¢ 9a* —12ab

—16b*

16b*

4p?

—4h*

H.C.Fof & -85 and a*—4ab+4b'is:
—_— r‘ th( az —4ab+4b2 Fil a3 —gbl

g

a’ +2ab+b

a’ —4ab + 4b*

If J;=—10 , then solution set is:
felerd¥ Jx=-10 @

{)

{100}

Two coordinate axes intersect each other at
an angle of:

{fiFJujfi_/s.-_gq_t?l{O"‘J’}k’. NV LD PRIy
s Y

30°

60°

90°

120°

Distance between 4(3,0) and B(0.3) is:
te BAidn B(0,3) 1 A(3,0) 18

942
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| | Question Jir A B A I B | c J D l
In parallelogram ABCD, mZx is:
D C
13x*
10. 559 5° 10° 11° 55° (y 3 € 0O
A B
‘-'c,-LJ'-'»EJ mZx & ABCD tusnisinsF6»
In given figure, shortest distance from P to
line AB is:
P
11, mPL mPM mPN mPQ O O O O
. 450 A60° |70 e
AL M N Q B
Wnf e toife. AB w¥ P B LTS
In given AABC, the valueof x is:
C
6 4
12, = = | 9 2 3 O O O O
y \:
A B
(=i x b ABC 2845
Area of given figure is:
le 8 ]
13, 4 32 16 12 8 O O O O
e o
_u_’)‘r:j’“,}.afférd:
, Additive inverse of N s 5 - A o0 0O 0O
. *:b"ny’uﬁ'.j‘fsf JS_ '\/g
The value of (JE+J5](JE—J5] is: O O O O
15. 24 b? bt -b +b
= s (J;+J5)(\/E—Jg) a’+ a a a
——1SA-1 2309 HA -5091 —
ROLL NUMBER
I:I Page 2 of 2 | D




Time allowed: 2:40 Hours

MATHEMATICS SSC-I

(Science Group)

26

Total Marks Sections B and C: 60

NOTE: Answer any nine parts from Section ‘B’ and any three questions from Section ‘C’ on the separately
provided answer book. Write your answers neatly and legibly.
SECTION — B (Marks 36)
Q.2  Attempt any NINE parts. All parts carry equal marks. (9x4=36)

; . 4(3)"
(i) Simplify e
(i) Find the values of x and y if (3—-2i)(x+ yi)=2(x—2yi)+2i-1
(iii) Solve log, (0.001)=-3
(iv) If x+y=11,x—y=3, then find values of a) dxy b) 2(x2+y2) c) 8xy(x2+y2)
(v) If area of rectangle is x’+24x-81 then by use of factorization. Find

a) Sides of rectangle b) Perimeter of rectangle
(vi) Factorize 2x’+x’—2x-1by using factor theorem.

2
(vii) Find square root by factorization [x+lj —s(x—l]+%
X X
(viii)  Find the solution set of ettt WHEEE wed
3x+6 6 2x+4

(ix) Find values of "»" and "¢" by comparing y=mx+c¢ with 2x+3y~1=0 A
(x) Verify whether or not  0(0,0) A(Jg,l), B(JS_,—I] are the vertices of

an equilateral triangle. .
(xi) Prove that, the right bisectors of sides of a triangle are concurrent. AL M N B
(xi)  Infigure, PL is perpendicular to the line 4 and mLN >mLM Q 2 (xii)

e C
prove that mPN > mPM
6
3
5 s — e e A

(xiii)  In A4BC, shown in figure CD bisects £C. If mAC=3,mCB=6 and mAB=7, D\

then find Q 2 (xiii)

(a) mAD (b) mDB School

D

(xiv) A student travels to his school by the route as shown in figure Find m4D , B

the direct distance from house to school. 3km c

Note:

Q.3

Q.5

Q.6

Q.7

SECTION — C (Marks 24)

Attempt any THREE questions. All questions carry equal marks.

HO&JSE 0 2 (xiv)

(3x 8 = 24)

The length of a rectangular playground is twice its width. The perimeter of ground is 30m. Find its dimensions

(Using Cramer's rule)

In a correspondence of two triangles, if three sides of one triangle are congruent to the corresponding three sides

of the other, then prove that two triangles are congruent.

In a right angled triangle, prove that the square of length of hypotenuse is equal to sum of squares of the lengths

of the other two sides.

Prove that, the medians of a triangle are concurrent and their point of concurrency is the point of trisection of

each median.

Construct a triangle APOR, mPQ=6em, mOR=4.5cm, mPR=5.5cm With steps of construction, Also

(a) Draw its altitude from Pto Or

(b) Find area of triangle
—— 1SA-1 2309 HA —
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_QIJ&UV(OB)J;J r(.:.g_,f.'l‘r.,ﬁ-?? v'fZl(Og);:.Cr».ﬂ-;_{.*.{z(é{dlﬁ(jfgﬂyc,ax_ ;..Llﬁf.aﬂlrérfuir»,ﬁ? 2
_uijlgd‘_.:ffluﬂ_é'ba@l:?i.__.‘l‘

(36”'2 J/)fu._/’

(9x4 = 36) iR Lanei-gES J21(09)) e e fks 210t AUy
o 48 L5 0

(3—21)(x+ yi) =2(x—2pi) +2i-1 ﬁg.fr}”u:”zn,(y sl x (ii)

_q/r}*’_ufgf « 9% log, (0.001)=-3 i (iii)

8xy(x* +57) B 22 +y) e by A USRI xey=1lx-y=3, /] (iv)
K o S L G e S)EEA T v 2ax-81 SHE (V)
2 4xt-2-1 gy SSF i (Vi)

b (IJSEIJ% LI F 2 (Vi)
x£2-2 £ 3x2+6 ='€~§-xl+—4 U/ F’i”-’*ﬂf Keblo T (viii)
LSt s DL S B PS y=nrre  2x+3y-1=0 il (i)
L M N B Lt b gl £ 0(0,0) 4(5,1), B(ﬁ,-l)b@fé&'_ﬁ (x)
20~ B BAAGE L Lt Sy et ()
74%\ ot mPN > mPM S S b mIN > mIM sigsd (BB FLUES (i)
A D\ B
i) 1y oK C i CD U ABC, b LSE  (xill)
JsSn S S mAB=1, mAC =3, mCB=6/1
D mDB - mAD
s 8km * 4km et S Land s Lt P A E)F e St ek (xiv)
—>— C _L,:)’rﬁ” mAD ,Lﬂli:/lznbcfd:aaa/f[-w
3km
);‘ 2xiv)~~Jir

(24~* f)('f._-"
(3x8 = 24) s Lol ES Ik 89
et Bt A S Ud 3050181 i medizdUidud e S, LJEv I oS Ay
(34§96 L (Cramer's) £/
b S U g Setun S o Lo fe Lk p nltau Ll fitesb s Susn /i Ay
-§_t'm:r.cL,nfZ.uy‘.’/£u;fl.,)J{,Mru:’»4./»cé/bﬂylgf/”:gf.wgn:)f;fs..ﬂfq/mlf 04y
S bt K s fi g B iS e PAES L b Ll [ S ek Ay

#léix ﬁ Jj KU mPO = 6¢m, mQR =4.5cm, mPR=55cm £ LfL'f. APQR &k :‘ﬁ:‘ (Jff
Sl OR e P BKS -
Sl IR o
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